Here, we will find the equivalent capacitance across terminals a and b.
The two 3 µF capacitors are in parallel because they share the same pair of nodes. The equivalent capacitance of parallel capacitors is simply the sum of their individual capacitances.

Combine them into one 6 µF capacitor. 

The two 5 µF capacitors have the same voltage across their terminals, so they are in parallel.

Add their capacitances to produce a 10 µF equivalent capacitor.

Combine them into a single capacitor.

The two 6 µF capacitors have a common current. So they are in series.

To find the equivalent capacitance for two series capacitors, take the reciprocal of each, add them together, and take the reciprocal of the result.

Multiply the numerator and denominator by 6. We get a 3 µF capacitor.

Replace the two capacitors with a single capacitor.

The same current flows through the three center capacitors.

So they are in series.

Find the reciprocal in the same way: add their reciprocals and take the reciprocal of the result.

This simplifies to 1 µF.

The 1 µF and 3 µF capacitors are in parallel.

Add their capacitances to find a 4 µF equivalent capacitor.

The same current flows through the 10 µF and 4 µF capacitors.

Combine them by adding their reciprocals and taking the reciprocal of the result.

Multiply the top and bottom by 20 and simplify.

This gives an equivalent capacitance of 2.86 µF.

